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AL B Al A

20238 20ilat LekaH Al
SAT A
A =THAED|BHErE
Bl NEE =285 EEREE)
SA - BH - SRI(B) - MRAR - BAS 0f v e HIDEY
A1t 581,331 672,882 201,551
= 26,9%
= 40,749
Al 513,586
A==THE 0| eta e 565,531 647,082 A\91,551
= 26,99%
= 40,749
Al 487,786
N==t8 s53ds 555,531 647,082 A91,551
= 26,9%
= 40,749
Al 487,786
KNEMPY & = 194,677 189,664 5,013
201 =3l 172,684 173,406 NT22
01 AFR2t2lH] 37,684 38,406 ANT22
O0RLIAIM 28 & SSEAHI 23,400
-0CRLXIAl &4 75 %300, 0000H 22,500
-2 EHE 900,000 900
OXIH SHBSHZ S 448 2 R
300,000 x 12 3,600
OXNZHMEE S dFEAN 7Y
150, 00024485 1,200
OXIZAl B2E 842 HX
500,000 52 2,500
ORHd B4E 100,0002+x9EH *23 1,800
OXIZAl TAGRDXNAN ESEH EU
- 250,000 8K 2,000
OMANLLSM E2M HE S
1,000,000 1,000
OAld= itz 2,184
-SI1EEJ| 40,0002 «3CH+ 122 1,440
-gJI 62,0002 * 10+ 122 744
02 5224l 135,000 135,000 0
OFIIl & A2 DIANLS S RERS
85,000,000 85,000
OMELNA & 2 &E PERS
48,000,000 48,000
OMZg=ZAME 2 ISR
2,000,000& 2,000
203 =8| 5,000 5,000
03 A=A R=EH] 5,000 5,000
ONIR1 AB=NH 22|
5,000,000 5,000
301 LEtENZ 10,000 5,000 5,000
14 JIEt2d= 10,000 5,000 5,000




SN
XEH
E}’Olz

SA - BB SRI(B) - MRAR - BAS Of v e HIDEY
OXZAl SALHT NB2A2
50,0002 200 10,000
306 E2i=2 6.19%6 5,449 47
01 9= 6.1%6 5,449 47
OXNZHHTRA EXHS 6,196,000& 6.1%
308 XX A SO0IE 797 809 A2
07 MNXIHHRY = 797 809 A2
OXgA SSE2H 2=
797,000& 797
NZANE 235 2l 66,773 172,767 105,994
201 =g 3,300 19,180 15,880
2 5228l 3,300 19,180 215,880
OXNZAl - M2l otz X245 3,300
M2 SS2CIAIAE SN2
275,000+ 122 3,300
308 NHAIEHMSOI™ 63,473 42,098 21,375
11 I 2SOICHSH 2 & X /St AI b 63,473 42,098 21,375
OEZEXLHEBAAL X4
1,980,000 1,980
OSENLH(ABAAL)ZLAAE R L2
2,016,000& 2,016
OLMSEAIAE X2 79,0002 79
OXHMITH NIEA S2AILE K2
59,398,000 59,398
Nel=g &S 68,448 52,089 16,359
201 =23 26,140 18,880 7,260
01 AtR2telBl 26,140 18,880 7,260
OMIel== XM I
73,000 x202} A 1,460
OMeI+EaoHIS eS|
028,000 2,520
OHMQA=AHLR AEFHE 0122 ()
2,640,000 2,640
oML FRRIAILY 0IZE(2E)
7,920,000 7,920
OTTAZOOIE 253t 0I22(AHE)
2,200,000 2,200
OMgd=2sSe2elAIAE B 02
2,200,000& 2,200
OMe= usiie & S2=HH
2,200,000 2,200
OMel= &gt Ad& 5,000,000& 5,000
303 Zat= 12,000 12,000
01 Za= 12,000 12,000
ON+gd+ Xz
3,000,000& x4= 7| 12,000




2N

M UH=MED| Lty
Bl NEE =28 EEREED
SA - B . B(30) - HSAIY - BAS Ofl &kt e HImE2
308 KtXIHHMSOIA 30,308 21,209 9,099
11 S| 2SUHHEHE A ELAEAIS I 30,308 21,209 9,09
OXMUAI =L EZEAAE X2
30,308,000& 30,308
IHE S0 ZSAIAIY 53,992 53,992 0
= 26,99%
Al 26,9%
201 Let2A| 53,192 53,192 0
= 26,5%
Al 26,5%
01 Ar2teltl 51,392 51,392 0
OMEFEN BE+4+E
44,600,000& 44,600
= 22,300
Al 22,300
ORSLIIATAIZIAS i@ EaLe
2,000,000& 2,000
= 1,000
Al 1,000
OMEZLIIHTAL LutgH|
4,79%,000& 4,792
= 2,3%
Al 2,3%
02 33=2gH| 1,800 1,800 0
ONEFe MUY XL+
1,800,000& 1,800
= 900
Al 900
202 04| 800 800 0
= 400
Al 400
01 =W 3Ll 800 800 0
OMNE IR EL AL (Y]
800,000& 800
= 400
Al 400
KA M F A F=2 49,392 36,480 12,912
201 et AL| 46,992 36,480 10,512
01 ArR2telt| 38,752 34,480 4,272
OXEHAHAIAE AIBZ 15,246
SHEHBEMNEZ 4,356,000& 4,356
e i =Rt 8,470,000& 8,470
-HEHOIHES St 2,420,000& 2,420
(OFSYNRHEINES = INE=3=4 8,106,000& 8,106




) S (=)
M NU=MED| Lt
Bl NEE =28 EEREED
SA - B . B(30) - HSAIY - BAS Ofl &kt e HImE2
OMYDAA & o) S8yl
1,000,000& 123 12,000
OdgH™dz =8 S 200,000 12& 2,400
ONSX HSH x| ©2)| Z2I &5
= 500, 0002 *2CH 1,000
02 32| 8,240 2,000 6,240
OMgd=ge g 2E: Al
2,000,000& 2,000
OXtSAt HSE IX| SAAAE FAE4
] 440,000 128 5,280
OXtsxt BSE HX| 22| Saz
40,0002 =2CH*12& 960
405 XHaHE SHI 2,400 2,400
01 ML =ZFSHI 2,400 2,400
OXt=xt HSE IX| &SI widlS
500,000 *2CH 1,000
OXtsxt s IX JFUs ZeHI] WH
b= 700,000 *2CH 1,400
KAl M= HMIEA AEHEAR K& 116,429 136,300 219,871
= 34,929
Al 81,500
101 el24H| 116,429 136,300 A 19,871
e 34,929
Al 81,500
M IRIMZ2Z2XSEs 116,429 136,300 A19,871
OXIZA Mol MEX &EHZAL Q12 116,429
-2 68,9103 +8H 126 69,462
= 20,839
Al 48,623
=54 68,9102 x8H x263= 14,334
= 4,300
Al 10,034
-Fasdsy 68,9102 +8H 6 3,308
& 993
Al 2,315
-AXResIIeE 68,9102 x8F +4 2,206
= 662
Al 1,544
-S4 04| 10,0002 6 126 7,560
= 2,268
Al 5,292
-HEFOHI 500,000 +8H 4,000
T 1,200
Al 2,800




SA MR
M RETE |
=Rl NEE 833 (St M)
SA - BB SRI(B) - MRAR - BAS Of v e HIDEY
-“AUEEs S 15,559,000 15,559
[ 4,667
Al 10,892
CHMESY s XA 5,820 5,790 30
[ 5,820
101 @1A4H| 1,000 500 500
= 1,000
M OIRINZZE2XNSE S 1,000 500 500
OMEA ZEiEA JI2HH 22 A wFHl S
1,000,000 1,000
& 1,000
201 Er=23H| 4,020 4,490 A470
== 4,020
01 Ar2telsl 4,020 4,490 A470
OME A &EiZA J12ZHH 224 W8 HE
A =g 200,000 <3¢ 600
= 600
ORXIZAl CHLHZEXE AIZ 1,950,000& 1,950
= 1,950
OME Xt 2EHZAL AHY A2 FH]
1,470,000 1,470
& 1,470
202 O 800 800 0
= 800
01 SLHoAHI 800 800 0
OZAHEY -2 0l
800,000 800
& 800
HYE2HAHI (M) 25,800 25,800 0
JlE2ZHI(NSR) 25,800 25,800 0
JlE2ZHI(NIR) 25,800 25,800 0
201 Zer2d| 18,000 18,000 0
01 AlR2teltl 18,000 18,000 0
SPAN2EAR 22/ 18,000,000& 18,000
202 O] 3,000 3,000 0
01 SLHOAHI 3,000 3,000 0
OJl=gR==80idl(2rY) 3,000,000 3,000
203 BRI 4,800 4,800
M EAEHERFAH 4,800 4,800
ORAN2ELRFAHI(302!015t)
400,000« 122 4,800




